SYDNEY GIRLS HIGH SCHOGL

YEAR 11 MATHEMATICS

YEARLY EXAMINATION
SEPTEMBER 2003

Time allowed: 90 minutes

Topies; Chapters 1-10 (J&C)

Instrugtions:
> Thereare Four {4 questions, Questions are of equal value.
+  Afferapt all questions,
o Shovw all necessary wotking, Marks may be deducted for badly arranged wiork,

» Start each question oma new page. Wiite on one side of the paper only.
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QUESTION ONE (20 marks)

(2)  Find correct to 2 decimal places

46 - 59
4.6 x2.3

(b}  Evaluate 42000 x 9600 giving your answer in scientific notation
(¢)  Factorise O 4-4p?

G 2xo7x -15
(@  Solve 3-(4-x) =52

(e) Express as a fraction in simplest form 0.03

(©  Expand and Simplity (243 + v2)(33 --43)

(@  Given s, = —2‘1[221 + (n-1)d] find S, when n=103, a=5andd=1.2
. - -4

b Simplif od

) mplify R

@ Solve forx 4 =8

0] At a shot sale, all shoes are to be sold at a discount of 15% off the marked 1
priee. What is the cost of a pair of shoes with marked prics of $79.957




Alavra.

QUESTION TWO (20 marks)

35m
{a) A B
. Find BC
37m
C =

() Bvaluafex 15

T

X

(c)  Express without negative indiees in simplest form

(Axy™
2x°

(d) Solveforx

o “215 ) : .
(i) (t+4) =36

(i) 4(2x - 7) < 12

[

(v) |3y +5] =4~y

v
B

W |7-3]

(&)  Solve simultaneously

4y—3x=38
Sy+3x=1

() Find the values ofa and b if N‘/;_I =8+ b2

QUESTION THREE (20 marks)

(a)  Find the exaet value of y

(( 30"

(b) Given fané= %ﬂnd (i) cosd dnd

(i) eosecd
(©) Simplify sindcotd

2 - ifts0
%+ 1ift<0

(d) Ifh(t) = {
find the value  h(3) + h-4) - h(0)
(e)  State thé domain and rangé of  y = x* - 12

&3} (iy Find the sum of the interior anglés of a regular hexdgon.
(il) Whiat is the size of each exterior angle?

In the diagram PQRS is a rhombus where
<SPR = 52" and SR is producéd o T.

(i) What is the value of <SPQ?

T (fi) What is the value of < QRT? Give reasons.




QUESTION FOUR (20 marks)

()  Showthat f(x) = x* - 1 Isan even function
(b)  Findxif sinx” = cos(2x - 30)"
{e)  Solve 2sinx = -1for 0" < x < 360°

{d) Draw neat, separate sketches of the following, showing all relevant features

MR+ =9

(i) y = 16 - 2

(i) y = 2° )
(iv) y =¥ -2
My =+

(e) ABCD is a parallelogram, AD = 12cm, CE = 4cm, BF = Jem

A B (1) Show AABF is similar to AECF

(ii) Find AB

QUESTION FIVE ( 20 maiks)

(&) Find the area of the kite ABCD correctta 3 significant figures.

1.8 mm

(@) Copy the diagtam ofi your exam paper and
label ail iiformation given.

(it) Show that angle RPQ = 82,

(iif) If the distarice of the tree fiom P is 600m and
thait of the tower is 940m.
Find tiow far the tree is from the tower.

(¢)  Prove cotf + tand = cosecd.secd

(d)  Graph the region

X+ ¥ <25, forx €3 and‘y> <4

showing intersecting points.

From P, a tre¢ Q bears 057 and a tower R bears 335"




(€

Two towers AB and PQ stand on level ground. The angles of elevation of the
top of the taller tower from the top and botiem of the shorter tower are
5" and 20" respectively. The height of the taller tower is 70 metres.

70
K Metres

{) Bxplainwhy APJ = |5 )

(ii) Show that AB = _Bfi@i
sin95
(iif) Show that BP = — />
sin 20"

(iv) Hence, find the height of the shorter tower, correct to the nearest nietre,

END OF PAPER
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